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Synchronization

* Message passing
e User? ¢ E Ast7] $138l AH&
* Shared variable

o LED A H], &, A3 o] Az JelE YeEbd 7] $18) AHS



o] #5 AfolE ATt Yo A4S
Al ol wof Aelobo &4 Al
> FAA A} F A ol LEDeI 4%
Zdo] mlol 2 e 7t HE B¢
At ol 5ol e gtoz N A LED 4 H & Bl

= [o,5000] 0. A7
] oll LED®] & &



refund_pushed?

opcoa jed == true

blending_release()
machine w==H

minus_cocoal
maching w=0

machine \w==6
make_oocoa

machine w==f
make_ooffes

User money_minus(monay)
user w=0 "
refund_pushed! minus_coffea?
biending==faisa 1 monay_minus{300)
refund pushed! i
blending==talse wser wr=20 mims_cocoa?
Hending==falze I i T
. Hending==false
cocoa_pushed!
o _ —
insoit 50! idle ¢ ted()
bending==false
coffer pushod! insed 507
iresegt 100! money_plusi50)
L insiart 1007
ireseit 5001 00
naert 5007
money. plus{ 500}
coffee_pushed?
i mﬁeﬁ_l&ﬂ_'—‘b’u&
blanding_block() ‘
machine_ w=0
minus, ceffeel
owod, pushed?
Hending_block(}




blending==false

user w=0
refund pushed!
blending==false

refund_pushed!

blending==false I user w>=20

blending==false

cocoa_pushed!

insert 50!

blending==false
coffee pushed!

insert_ 100!

insert 500!




idle

refund pushed?

money_minus(money)

minus_coffee?

~

money_minus(300)

minus_cocoa?

money_minus(200)

check_led()

insert 507

coinbo#

money_plus(50)

insert_ 1007

money_plus(100)

insert 5007

money plus(500)



coffee_pushed?
coffee_led == true
blending_block()

idle

-@

machine_w=0
se() minus_coffee!

machine w==6
cocoa pushed?
blending_block()
cocoa_led == true

blending_release()
machine w==

machine_w<=6
make_coffee

minus_cocoal

: machine w<=6
machine_w=0 s

make_cocoa



Future work
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